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9) e ?) dfgaref 3) TR 8) e
"Ecology is the study of structure and function of ecosystem" who defined in 1969?
1) Kerbs 2) Andrewartha 3) Taylor 4) Odum

) SRR UhR, Ieh

QA I Siia FHGRIMIE UMD Ted ... Y QRSICICRINSIS (S

q) PI-3F ?) SIS 3) $PI-<H 8) gPI-TRET
The transitional area between two living organisms is known as
1) Ecozone 2) Ecophos 3) Ecotone 4) Ecotype

AR YATERUNT leflefid! PIUeal Tcehrar FHaer gial ?

a) d9H g Jal b) Sfef g AT ) I g ST d) At fha g Stages
RIAUDT DIV U /U™ SRR 3med ?

9) Wth (a) ST () ) FH (b) 3) W (c) ST () 8) BT T

Which of the following factors are included in chemical environment? ?

a) Temperature and soil b) Water and soil

c¢) Vegetation and water d) Human functions and biological components
Which of the statements given above is/are correct?

1) Only (a) and (b) 2) Only (b) 3) Only (c) and (d) 4) None of the above

ETeficTidh! FaTes AT dfer pioreht 2

a) & GeAlRId |ald Urde |eila F9g 37T, b) g 31l Sagyd (Biomass) ScUGSH 3MTRd.

c) & avudt g mfie sfva fafdudr omR. d) g UTIRaTelleT SSrhfegusy uRRRUSITT 2TTR.
Rieteh! I e /AU sRIsR 3med ?

q) Beh (a) SO (b) ) Beh (a), (b) 3N (d) 3) B (c) 8) el T

Which of the following are characteristics of Coral Reefs?

a) These are the oldest living communities on Earth.

b) It is a high biomass producer.

c) Itis arich floral and fauna diversity.

d) These are shallow water tropical ecosystems.

Which of the above statement/s is/are correct?
1) Only (a) and (b) 2)Only (a), (b) and (d) 3) Only (c) 4) All of the above
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q) (a) 37T (d) ?) (b) 3for (d) 3) (c) 3T (d) 8) (d)
The major portion os sewage is made up of :

a) Organic matter b) Nitrogen c) Particulate matter d) Water
Answer Options :

1) (a) and (d) 2) (b) and (d) 3) (c) and (d) 4) (d)

3) QYT Tch

ATSUTTITT ST A RO Wifeidh STTECATAT bl ...

a) 3NALTD RIS JAfARFST N IR AR el ST,

b) TIR STeicdT BIE- SRISIAITSSH! AGeTEqH aATeRUITd e JTfado SRIER &l

c) e fafder eRIT Iueed 3RTelell HIeH SRISTGNITSS ATuRal SiTdl.

gt SR :

9) (a) 30T (b) ?) (b) 3) (b) mfor (c) 8) ARICTHT PIUTCTET e
During the aerobic decomposition of sewage, by bacteria..............

a) the required oxygen is directly taken from the atmosphere

b) the produced carbon dioxide is interchanged with the atmospheric oxygen

c¢) the carbon dioxide present in different layers of soil is used.

Answer Options :
1) (a) and (b) 2) (b) 3) (b) and (¢) 4) None of the above

Tefieridh pIorcht o o amed I

a) STATOAT AFRITSD STUCHTA, WIfdh JYUCHIIET U el ST ral.
b) IRY AT MouT fohda umen=y feet e g,

¢) T 3fetel AfGH SIe] ATl FfUehe AT .

d) WSHI® ST, eS0T Hfshlel SN AFGRIS ATecel IHRh el

Tt SR
9) ek (b) 3T (c) ) B (c) 3T (d)
3) (a), (b), (c) 8) (b), (c), (d)

Which of the following are incorrect statements ?

a) A non-aerobic decomposition is not preferred over an aerobic decomposition by bacteria.
b) Porous soil is not preferred for filtration.

c¢) Organic acids present in soil decrease the fertility of soil.

d) Rocky soils are unsuitable for filtration and non-aerobic decomposition.

Answer Options :

1) Only (b) and (c) 2) Only (c) and (d)

3) (a), (b), (©) 4) (b), (), (d)
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b) AT TR HedT JARASTd! IIERUII Bl SRISTaTSS RISR! 3gelecel qIgHIER
SERERMC

¢) rsuTft, IR Gftear aread

d) AR TerRi smEeT ¥ Wi R TR R 2.

gt SR :

q) Weh (a) 3T (¢) Q) b (a) 3O (d)  3) Eh (b) SN (d) %) (a), (c) SN (d)

The correct statements from the following are :

a) Filtration is a physical action.

b) The interchange of oxygen produced in soil and atmospheric carbon dioxide is temperature
dependent.

¢) Sewage increases the fertility of soil.

d) Decomposition of organic matter by bacteria could be aerobic or non-aerobic.

Answer Optoins :
1) Only (a) and (c) 2) Only (a) and (d) 3) Only (b) and (d) 4) (a), (¢) and (d)

AT Qi FEATIRURIAT P e ?

a) UTBMITAIGATIT b) UIOAAT AT ¢) Pab g aped  d) ST
T S :

1) (2) 3 (b) R) (@3 (@) 3) & (d) 8) It T
What is the true source of minerals in the forests ?

a) Vegetable residues  b) Animal wastes c) Fungiand bacteria  d) Subsoils
Answer options :

1) (a) and (b) 2) (a) and (d) 3) only (d) 4) All the above

() SHIRIRTH - ol fikfME, 3 AT 3NfoT S

3T ARG U1 ST
ANPAEIT g Solt RIS

q) 37 ARG AT ST

WU Stiameis g gedsia  gReft 79 veficandie [Tee S digd I ARl gead SR
FRATT S IR ST IHYh SRAT T WA ... TEUTAT.

q) Tt ?) faees 3) 9erh 8) SRt
Heterotrophic organisms, chiefly bacteria and fungi that breakdown the complex compound of
dead protoplasm and release simple usable substances of other organisms are :

1) Autotrophs 2) Decomposers 3) Consumers 4) Omnivorous
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Carnivores when compared to Herbivores have .......

a) pointed teeth.

b) shorter intestines

Which of the above two statements is correct?
1)Only a 2)Only b 3)Bothaandb 4) Neither anorb

SRITBRISITH S TRIFAR! 3U9 (SISt FaUH FRIRCE IRDh DicHIAD IRIT IRUFD HiS
TE FRUTIT T OTaRd] Ui e Il HeriE g fhieiianta 4%g¢ T A wRdifis ueH
FRUITT 37T,

37 TSRAT RV FeaRifddg IRIHBRS 2.

) SEIE TIH ATEe RO Iaifvg (lice) TRUMSRS 3.

P ) SISt U AT R 3idd fuRt 3mme.

g) UoficH SIEIc Aesl TaIad Ufchal (JIFhRUT) $H% and ATl

RIS DU U™ @ 31ed ?

9) JdH Q) AJIS 3)31, b, T8 8)3, &, h,dS
Dichlorodiphenyl Trichloro Ethane (DDT) is the first chlorinated organic insecticide of the
discovery of its effectiveness as an insecticide Paul Muller was awarded Nobel Prize Medicine
and Physiology in 1948.

a) DDT is effective against mosquitos that spread malaria.

b) DDT is effective against lice that carry typhus.

¢) DDT has high toxicity towards fish.

d) DDT is not metabolised easily by animals.
Which of the above statements are correct?

1) (a), and (c) 2) (a) and (d) 3) (a), (c), and (d) 4) (a), (b), (c), (d)

R) AIHEEAT g ot ke
IEARISIHEY D ol ecRIeR [IuRY gererfean yHond I gIom=ar aci| ......... TEUIATd.

q) Stafeor R) StgatEL

3) ST 8) STISTITRIBRUT

The Continuous increase in concentration of a toxicant at successive trophic levels in food chain
is :

1) Biodegradation 2) Biomagnification

3) Bioaccumulation 4) Bioremediation
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(3) farT 9 TfeRvitT SRIge - BRY g gRo™

TRITaRUNY SAge — BRI
TR SrAge — aRomH

q) TR SRIGE — HRY
qie REFIS! PR o o 2
a) AFG AT 9 3.

b) Sifdes FRTE AFETeT TRol QR
R SR :
9) Beh () R) ®eh (b) 3) (@) 3 (b) = 8) 7 (a) 3R T (b)

Which of the following two statements is incorrect ?

a) Man is nautre's’s enemy.

b) Biological resources satisfy human needs.

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

TN € gV WTelieludh! DIUT ITHAMS BIds ehd] ?

a) fdufie=ur b) Sefcetia G HTg0T

¢) ST TR VIR dGe d) IRfarE ocht

T S :

q) Hh (a), (b) M1 (d) R) W (a), (b) 37T (c)
3) T (a) 8) A |4

Habitat destruction can happen due to which of the following activity ?
a) Deforestation b) Reclamation of Marsh
c¢) Change of land use pattern d) Subsistence farming
Answer Options :

1) Only (a), (b) and (d) 2) Only (a), (b) and (c)
3) Only (a) 4) All the above

"' GBI 38 UIeICIaRT 31ith AREERIeEd | @ YATERUIENG! el 43R 9 HEY TRPIfRT Hleledl JRIpI
.......... TR hY, ISUIEhICHTdTe SHIcTeaT ALY TITeRUGSST & 3Tfehgseal STl Aaid
IS Hepe M FTel .

9) Ioig 9IS Q) geT forar 3) IIfIRTT gRUe ¥) e TR

In the book (1991) "Ecology and the Politics of Survival", .......... argues that tropical forest
resources are undergoing the world’s most severe ecological and economic crisis,

1) Rajendra Shende  2) Vandana Shiva 3) Abhijit Ghorapade 4) Allen Gore

.......... RCREISCIRCEINEGEGICE

) IFENIHIART T TRIHRT ?) Frafg enffedr T Hiwid gt

3) gTBACIRRUT IO gyl feRgagun ¥) efeardt g wedh
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............. destruct the biomass.
1) Industrialization and urbanization 2) Subsistence economy and marginal culture
3) Deforestation and devegetation 4) Tribals and nomads

2 9CH ANl SRR JoTell YA aid Ared 2

9) 3ftenfihiaor Q) ANRIER 3) IRT 3Mfear ¥) TRITUD Tpg AT
Which factor does not affect the country’s biomass base ?
1) Industrialization 2) Urbanization 3) Cash Economy 4) None of the above

ufgedT gRAhIdId Wielietidh! PHIorT ME Piedet Hdell ATE ?

37) PRSATE T ¥) ARt T &) gdip STHH Tea 8) arwdct ued
g IR :

9) Weh F 3T @B Q) Beh & MM 3) Weh 3, T AMN T 8) NIt 9 SRS

The first Green Revolution did not take care of which of the following areas ?

a) Rainfed areas b) Coastal areas c) Fertile soil areas  d) Arid areas
Answer Options :
1)Onlyaandc 2)Onlycandd 3)Only a,bandd 4) All of the above

2030 Td WHIG UTH $0% UIUITEl eds! [FHIVl B0 RN BIUR 37Ted

a) 373 JUIGTAIS! TIUl_b) ATl ¢) STedTggDrdl Wl d) BIpAeT e
RIBUh! PIUCT/T TCh eas! IV BTN BRUTHT BI0R 3Med 2

9) B (a) AN () ) B () AN () 3) FH (c) ¥) B (a).(b) 3TN (d)
The following are some of the factors responsible for 40% shortfall of water by 2030 :

a) Pressure of food production b) Urbanisation

c) Development of water transport d) Population growth

Which of the above factor/s is/are responsible for this shortfall ?

1) Only (a) and (¢) 2) Only (¢) and (d)  3) Only (¢) 4) Only (a),(b) and (d)

gicciae v auar J1iRe MeRduIR 3iTe. UTehiAT AT Uugr fhad & gl a9y 99 ared
B 3R ?

37) 0 TS derreaT fiurT aR §) SN dOHE TG

%) STelrd Tl 3) e

gt SR

9) ek 37 70T § ) Heh § 3N & 3) Beh 3T, F MM PH 8) Beh & MU §

The economics of drinking water is always bafflling. Price being of little constraint for the
consumers, the global bottled water industry is galloping. What is the enviornmental cost of
bottled water?

a) 20 million barrels of oil b) Global warming

c¢) Contamination of groudwater d) Deforestation

Answer Options :

1) Onlyaand b 2)Onlybandc 3)Onlya,bandc 4)Only cand d
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WG AU DU I 3T ?

a) SPICEART Uaa! JTeTUT=ITd! STl 1ot ==

b) rafies fAfdudr wiiea TR oI AerRT axq.

gt SR :

9) HIS (a) R) ®aes (b) 3) (@) T (b) = 8) 7 (a) I 7 (b)
Which of the following statements is correct ?

(a) Without evolution there would not have been so much food production

(b) Genetic variability rarely supports adaptations.

Answer Options :
1) Only (a) 2) Only (b) 3) (a) and (b) both 4) Neither (a) nor (b)

q &fier STeetise gl St PRUIRITS! fhdl Umuam aededr 3RId ?

9) Q afle” Q) ¥ offex 3) Yy oflex %) 900 efiex
How much water is required to produce every 1 litre of bottled water ?
1) 2 litres 2) 4 litres 3) 5 litres 4) 100 litres

TRST 3R ?
9) 90 GIrT&T Q) 20 TIAY 3) Y4 STy ¥) 2 GoleTel
In U.S., how many barrels of oil is required every year to manufacture and transport the bottled

water?
1) 10 million 2) 20 million 3) 5 million 4) 2 million

WSS F faur urgEid

a) WIRATA Heft A0 Pl Q=T SUSSEIAT T 9349 T 0.8¢ Ferex URET 9%%9 Wid 0.95 2R Taal
o T gt 03Y TT 0.0¢ T WIS AT T 3.

b) Tt ST IUGEUTT HH! VAT TG DRV TG BIbaeedl g Pl & P! &S Jobciiehsul
g,

RIS Prore fTum SRR 3ed ?

q) (b) faum I (a) Y.

?) (a) faum Iy (b) &

3) Qe AU SRR 7 (b), (a) = PRUHERT <.

8) el UM SRR u=g (b), (a) AT PRUHMRIT < gL

Consider the following two statements :

a) In India per capita availability of agricultural land has declined from 0.48 hectare in 1951 to
0.16 hectare in 1991 and is projected to slide down to 0.08 hectare in 2035

b) The decline in the extent of agricyultural land is mainly due to increase in population and
diversion of agricultural land for non-agricultural purpose.

Now state whether.

1) (b) is a correct (a) is not

2) (a) is a correct (b) is not

3) Both are correct and (b) is a correct reasoning of (a)

4) Both are correct but (b) is not the reasoning for (a)

HERTE ISTARRT ARRY WaT gauRien il - aRfRAfH, Sia-fafdeaar, gamm sga / 9y
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TSIGUDT PIUTT /PIUTT T T GEPIS WG T2 fUUaTed] YIudeRr 3edd hiod 10l GSUaRy

DR HTST /S Mg ?

9) ot farT Q) 3ffenfiexu 3) gred ITERIHRT %) BB TABAR
Which of the following factor is/are responsible for highly localised pressure on freshwater
resources especially in drought prone areas ?

1) Development of Agriculture 2) Industrialization

3) Increasing Urbanisation 4) Migration of people

2) TATRUIT SRIge - gRomd

GRIET gTugTET A UG TG Bihid T W oo 3TTed.

a) TR Bh b) IRAE 3R T3S B ¢) Rem

RIGUDT B DIV TE TR 3ed 7

9) Wh (a) 3T G (b) Q) Weh (b) MMM (¢)  3) Beh (c) g) WIS Tqd
The following are some of the group of people who do not have access to safe water :

a) Poor people b) Disadvantaged people c) Women
Which of the above group of people is/are correct?

1) Only (a) and (b)  2) Only (b) and (¢)  3) Only (c) 4) All the above

WAIGDT DI 5T AT TUITER TS 0T TSed™ Tl S AT 2

9) g HERTE ~ ORI R) Sféor Smfor g HERTY - SRR

3) IORYN - USTTE ¥) IR U9 - fIER

Which of the following states suffered from severe groundwater stress ?

1) Eastern Maharashtra - Gujrat 2) South and Eastern Maharashtra-Rajasthan
3) Rajasthan - Punjab 3) Uttar Pradesh - Bihar

JTEdaTer GROM PO ?

a) SATAATET haw JSRYSHIS! faaR

b) SHTeRITIges Feay T
¢) Thdhel SIfeR SRIUR GIhRUT SHATd MU At

d) Sttt Stafafaerar
Tt SR
9) %eh (a) ) ®h (d) 3) Bh (a), (b) 3T (c) ¥) Rl Td

What are the effects of colonialism ?

a) Forests considered only for market benefits

b) Conflicts generated due to forest wealth

¢) Monoculture objectives of forestry were implemented

d) Loss of biodiversity in the forests

Answer Options :

1) Only (a) 2) Only (d) 3) Only (a), (b) and (c) 4) All of the above

HERTE IISTART ARRY WaT gausien arRlt : ok, Sia-fafdedr, game g5 / ag
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UgTeRUT faeaarges 3iftrep THIfad IR |Hg Iora 2

9) TR S T R) WeTmETdiel Sl Fg

3) WA Rig S T g) TR R & gy
Which group is more affected by environmental destruction ?

1) Urban women group 2) Village women group

3) Village poor women group 4) Urban poor women group

PV YBRT Alp AN AT FHAT dRATd ?

9) IRt g HeerT SHTdt R) TR R

3) arfrferg et @) TTHIOT RSPl
Which type of people face social destruction ?

1) Aboriginal and nomadic tribes 2) Poor women
3) Illiterate groups 4) Rural culture

ERApIAT BB Wieilofih! DIUTT /HIUIT TATERUMER Siotel IRUM SRISR 3ed ?

31) STlRTE-TrAT Yehredl dgll 9) ST ared &R SE1

%) At TR TRTeT ST A1 ST SR CRRCIRCICIRTIL

T} SR :

9) ek 37 ) Feh § 37T B 3) Bh 31, T IAMN S 8) NIt 9 SIS
Which of the following impacts on environment during the Green Revolution idare correct ?
a) Faulty irrigation practices b) Increase of salt in soil

c) Abandonment of some of the best farming lands d) Groundwater levels have retreated
Answer Options :
1)Only a 2) Only bandc 3) Only a,bandd 4) All of the above

Wetiertdht rort TR gRagsic deef aRIeR 3ed 2

37) AEHNT I Yard Ui fuesfdeanges Sifeidl gftedr T g Tiet.

q) S gdtedT Seed™ dweuT g veiaren Uefior saee e,

%) Tpdich Ugdie Uil INTRT HicThR &7l Eicet!.

i SR :

9) ek 3 Q) Weh 3 31T § 3) Weh 3F 3T & ¥) et Td IR
Which of the following adverse impacts of the Green Revolution idare correct ?

a) Production of, same type of cereals year after year decreased soil fertility.

b) Loss of soil fertility made it difficult for pulses and vegetables to grow.

¢) Monoculture led to breakdown of plant’s resistance to pests and diseases.

Answer Options :

1)Only a 2)Onlyaandb 3)Onlyaandc 4) All of the above

GTeilofieh! gRashiat Faelt iurd) Stpr sRIeR 3Mg ?

&) SIeT STTeie ST ) & e

&) PN SATCHE DHIFIRI QIOTRY fIwae ) SUYH DicHEl g TR FISardT g
Tt SR

9) Sheh 37 0T § ) Tth @ 3T § 3) Bh § ¥) Wheh 31, & 3T S
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Which of the following criticisms of the first Green Revolution islare correct ?

a) Polluting waterways

b) Polluting air

c¢) Poisoning agricultural workers

d) Killing beneficial insects and wildlife

Answer Options :

1) Only aand b 2)Onlycandd 3)Only b 4)Onlya,candd

WAt B I wiffedhedn dieearar aR axuaraLt RIeR 7787 ?

37) S STt SN Tlecls Rd 378,

) YRATT 9200 FCeidg AT HREH 3.

%) Fh AEIFIT Yo Tep dIcaiieg Umvfl TreaT Uiudr grgl diceiisg ol S

$) witeehedl JIecdredl I ASUIHS Yoie UGUT g,

AT S :

9) ek 37 70T § Q) Wh & 3T § 3) ¥h B 8) Bk
Which of the following statements is not correct about bottled water industry ?
a) Global water industry is galloping.

b) There are 1200 bottled water factories India.

c) In USA 50% of the bottled water is repacked by pipe water.

d) Accumulation of plastic water bottles in landfills adds to contamination of groundwater.
Answer Options :

1) Only aand b 2)Onlycandd 3)Only ¢ 4)Onlyd
fRfosent 2!, IR, AT g STOFAT SHITcHies Hald AIGaT AR e Th Mg HROT 7

e FICH Hifedl A SEINT a0 Sed. s cgo ST Jaios QI [AUTch! PIurt aRIeR
AR ?

A)FEft Pt Rifesd BSIBT RS 3N gcy fevlse’’ e TR,

B) 3R TEce SR BV Y s --FSIRI el Teiit o |

IR I
9) I (A) ?) s (B)
3) (A) @ (B) q==l 8) (A) @ (B) qrgral e,

Silicon Valley, California, United States is one of the greatest Science parks in the world today as
it contains hundreds of hightech information technology industries. Which of the following two
statements about the Silicon Valley is correct?

A) Silico Valley was once called the "Valley of Heats's Delight".

B) It was so called because hundreds and thousands of varieties of flowers bloomed therein.
Answer Options :

1) Only (A) 2) Only (B)

3)Both (A) and (B) 4) Neither (A) nor (B)

HERTE IISTAFT ARRY WaT gausien arnlt : ok, Sia-fafdedr, game a5 / a¢
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(8) TIIRUTGRD fAHRT — e, BRI, TITaR0T IRYST, SART

9)
?)

)

1)

Q)

2)

3)

3)

Safife AremduRiR AN g uRiR GEURT
SIrTferes gaferor auReer, gafarufayge wrae, 33T

q) <afifehs AT fAANd: U< TR
i O RYMItS! PR s o 2
a) fafdy el oMU geaieT ugd feaaa bRt 3Tme.
b) Sifdes F=TUHmET aneaa e Ja faer /dearor GiHfead awadl.
g IR :
q) %eh (a) R) %h (b) 3) (a) @ (b) Q! 8) (a) d (b) qgl &I
Which of the following two statements is incorrect ?
(a) Our value system of the various entities is definitely incorrect.
(b) Sustainable development of biological resources ensures human welfare.

Answer Options :
1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

Wieftetid! ot /<t e/ 3mw emed ?

a) SHTCRIGY g STTIeTrar ST JT UaHHebiaR aeidy fohal i

b) TagR T et geriel wu meae &% 7.

¢) FATEATG! YRV SiTel FE EUIRT BRUTT Mg

d) TR FefoT AFiaR SMTRG ISTRUSHT JFRITaERT SiTellaR Sfdeies ATe!.
i} SR :

) ®h (a) R) Wb (b)

3) W (a), (b) M (c) 8) W (b), (c) 37T (d)
The correct statements from the following are :

a) Conservation of forests and use of forests are interdependent processes.
b) We should not cultivate more Pine and Nilgiri trees.

c¢) Colonial policy has caused the reduction of forests.

d) Market economy based on trade demand does not depend on forests.
Answer Options :

1) Only (a) 2) Only (b)

3) Only (a), (b) and (c) 4) Only (b), (c) and (d)

Qacfier Frior e qrRiHRTE e @lefletie! PIU U 3F® e ?

9) SRR Agard! (T STadl. Q) uroft g U IRIERT 3TTR.

3) SUH Hgardl e gotadr ¥) STRIHT YU SR1T JgwarT ATal

Explain the role of biomass of the rural households in the country.

1) Biomass plays a crucial role 2) Water is one of the biomass

3) Firewood plays an important role 4) Biomass 1s not important in rural households

HERTY ST AR WaT gausiern [l - gk, Sta-fafdgar, gam ager / 9
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SFRIRGRET ... IR a3,

a) I YU IS b) TR W

ORIEIC] d) SoUrpfeseiy T JIEU=IT el 3Mfies demor

g I :

) % (a) R) Wb (b) MMM (c)  3) Feh (b) MM (d)  ¥) Bh (a) 3T (d)

According to the given passage, food security depends on
a) food production b) ecological stability

C) monsoon d) economic welfare of the people living in tropical region
Answer Options :
1) Only (a) 2) Only (b) and (¢) 3) Only (b) and (d) 4) Only (a) and (d)

GTofleTddht PIvrT /vt e gRdspict Feeft SRR o8 ?

37)diges T8 T AR JUIIT SeUTGIeR HR giell.
q) PSU, Hed ST WSTUTEAT / IUTGAT T

@) DU, Hod g HISHUTAT IUTGATR TR.

) AUHNT 9y SHIAAT JUddd g 8%, e,
gl SR
9) Geh 31, § A0 S Q) Bh & 3) Weh 37 3MfUT & ¥) TR A RIS

Which of the following statements is/are correct about the Green Revolution ?

a) There was emphasis mainly on cereals like rice and wheat.

b) There was a loss of productivity of pulses, fruits and vegetables.

c) There was emphasis mainly on pulses, fruits and vegetables cultivation.

d) There was a gradual decrease in soil fertility year after year.

Answer Options :

1)Only a,bandd 2) Only ¢ 3)Only aandc 4) All of the above

qICeiieg AU BIUR JhA HH! HRUINIIGT Hgth AT @lofle! DU FoRT el ?

37) SUBRIEI Wich G chetel UmUll <ol

§) SRR AW, M PRUTIT FRAT G HACGRIT ISl ol SUIRT ererrar (el arRugRy )

&) FBIGR S Uit YRIST hefl Sl A HISAT TV iRl STcefid vl QIR 3,

gt SR :

9) ek 37 70T § Q) Bh B 3) Weh 37 3MfOT & ¥) aRicTdh A

Which of the following steps are taken in the U.S. to reduce the damage caused by bottled water?

a) Serve only filter water in reastaurants

b) Ban city departments, agencies and contractors from using city funds to serve water in plastic
bottles.

c) To ban water from bottles in large scale where tap water is available

Answer Options :
1)Onlyaandb 2) Only ¢ 3)Onlyaandc 4) All of the above

HERTE IISTARRT ARRY WaT gausien il : aRfRAfH, Sia-fafdear, gamm sga / 20
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Q) SR TIfaRvr YRYeT, TiaRUIfASIS BRI, JIT

ST T :

Y B, 9 (FFravTaae! Fras) TP, ? (T)
37) GYTeRYT WREUT 3fac I) a’R9
§) QAR G Gag! IS IT) 2000
P) S 3N9elt o= Teedt BRI I11) 9%¢&
g) TFRUTfIdT TdeRT FRNH Hrig IV) 9%R¢

<) q G )
9) v I I I
) I v I I
3) I I I v

9) I I v I
Match the following :

List 1 (Environmental Legislation) List 2 (Years)
A) Environmental Protection Act D 1991
B) Scheme of labelling of environment friendly products IT) 2000
C) Biomedical Waste Management Rules III) 1986
D)Municipal Solid Wastes Management Rules IV) 1998

A B C D
1) v I I I

2) I 1\ | I

3) I I I 1\Y

4) I I \" I

S 2092 Al enead fommcEl Ral + 20 gRee ‘fexdl srferewr’ gReur |Heid gl
WIHGHD] DT SRhIea] GRihia  [oxed] SRITaw)’ =t Hell ol ot ?

9) 3 I, . hisAT, ARSI ?) 3. fUsRi, U. A1hed, 3. TRARR

3) M. PIR, &g, oRI, TH, AR g) . fert, S TR, ey

The June 2012, Rio + 20 conference on sustainable development advocated the "green economy"
model. In whose book the term 'green economy' was coined?

1) Amartya Sen, D. Friedman, Samuelsan 2) D. Pearce, A. Markandya, E. Barbier

3) I. Quadeer, W. Berry, N. Hatekar 4) D. Greenberg, J Taylor, Schmidth

(4) Safefdedr — HeheUdT, YR, T=ISId JATfOT =it

Stafafeerdr WaheudT g YRaT el fRu
Stafafderdr - garR
TISig Jfor gyt
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q) SAafAfaerdr FheudT g HRdTce R

WIAIGUD! DT e I SIS U W Safdfdercs daeaefis & amg ?
9) ufegs =e Q) g °rIe 3) femrea ) R

Which of the following mountains are considered as one of the top biodiversity hot spots?
1) Western Ghats 2) Eastern Ghats 3) Himalayas 4) Aravallis

gEies g fAUTHTRT Pior g e 2

a) FYagiia uceura Sfare Fear MY 3T

b) SteiuCH! PIUITE! HISHIT /UGl et ST ATa.

EUIDIRCH S

) Bh () R) Wh (b) 3) (a) T (b) T=IE 8) (a)  (b) el Tl
Which of the following two statements is correct ?

(a) There 1s abundance of life forms in the equatorial region.

(b) No monitoring whatsoever of biological sources is being done,

Answer Options :
1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

WRATT Wleileld<hl PIUIAT glc—Taic U9l Sidfafaeidel U< fRiFg ST Heuid el el 3178 ?

9) IJARYfTTH AR ?) =& UBR

3) SRy WRd 3) ufeH WRd

In India, which of the following has become a hot-spot with reference to threats to biodiversity?
1) Northwestern India 2) Deccan Plateau

3) Northeastern India 4) Western India

Stafafecar gRIRISH ged

a) Y ARG IGBHD BRI I BRT

b) UGN EIUIRT GRICINRIHTET &Ny

c) forpR axur.

d) T T Arf T TR

e) ST 3fc IuT.

RIBUDT DI /DI T Toft g S SRum=T fShord Safafiear ot gvamrT dicar yHmond
HRUMT SRl /S,

) ®eh (d) ?) (a) ®h (d) 3) () 3mfr (a) ) (b) 37 (e)

Aspects related to the loss of biodiversity :

a) Habitat loss due to change in land use.

b) Habitual loss due to pollution.

¢) Predation

d) Outbreak of disease and epidemics

e) Excessive exploitation of species.

Which of the above is/are the major causative factor (s) for decreasing biodiversity from aquatic
habitat ?

1) Only (d) 2) (a) and (d) 3)(c) and (a) 4) (b) and (e)

HERTE IISTART ARRY WaT gauRien arnlt : sk, Sia-fafdedr, game g5 / R
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ITRSASTHT dTedt I, Pral HrRId ARt TSI BRO..........

q) dlcth SATBHERT TRH Bral R) e QT v e

3) HISITRAT PRARIYD 8) U T SIS

Scientists now believe that Tortoises perished because of ........

1) Hot lava of the Wolf Volcano 2) Dumping into the waters by the sailors
3) Man's interventions 4) Non-breeding

TATh PIATHED FASIANT PIIIIT Ned bRI gl ?

ERIE] Q) IRgS HH 3) UdIeRIes JTacT EICIEN R

The native species of tortoise was different from migrated species in having

1) Long neck 2) Short neck 3) Saddled back 4) Domed back
?) Stafafdedr - gHR

31ehl, foer @ e fafaerar (Alpha, Beta and Gamma) T80 &1 2

a) oftarl St

b) o fafderar g

¢) SafafaErdr Hieoarr Yimefles SHToT

d) @edR (Whittaker) (1972) It Gafderel ereqred

Rieteh! I e /e sRIsR 3fied ?

9) Teh (a) 31 (b)  R) Beh (b) 3) %h (c) g) Weh (c) 37T (d)
What is Alpha, Beta and Gamma Diversity?

a) Richness of species

b) Simpson’s Diversity Index

¢) For measuring biodiversity over geographical scale

d) Whittaker (1972) suggested these terms

Which of the statements given above is/are correct?
1) Only (a) and (b) 2) Only (b) 3) Only (e) 4) Only (c) and (d)

g1 fafdercren SR aIfdeT R e

a) TNeTT AR BT ST 37T,

b) 31f =T S S SR,

¢) TIEG /ARG BREASIAT FSAVIGT Job Fes 3TTRd.

d) R Fer: Ryl T gER1 Ml sariesT 991 < ATE.

e) fouoF fAfRe et iFT oY PRUTRT 9Tey Rard.

f) T B fHesal Wy TRl skid fhAd AT BRI

RIS PIURH TU TR 3med ?

1) (a), (b), (d), (&) ?) (@), (b), (0), (d), ()

3) (@), (b), (d), (e), (D) 4) (a), (b), (), (d), (e), (H)
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If we see the history of the genetic diversity the farmers.........

a) have benefited from higher performance.

b) have become rich because of the larger production.

¢) have overcome the problems of planting of uniform plants.

d) but the circumstances do not allow them to decide for themselves.
e) the market driven tendencies force them to follow.

f) and the benefits come to them at a great cost.

Answer Options :

1) (a), (b), (d), (e) 2) (), (b), (¢), (d), (e)

3) (a), (b), (d), (e) and (f) 4) (a), (b), (c), (d), (o), ()
Tefierdehl rurc RISt foham Rigia Sftaw Ichiciiel HeifRid 31med ?

31) “afiie fradkn Rigid ) IRac Jeshicrar Regid

%) IRAT ot qurerH Rigid 3) faam Regia

AT S :

9) 31, § MM Q) 31, § 37ftr & 3) 31, B AT S ¥) TRl T4
Which of the following theories are related to evolution of life?

a) The theory of natural selection b) Mutation theory of evolution

c¢) Theory of inheritance of evolution d) Theory of segregation

Answer Options :

l)a,bandd 2)a,bandc 3)a,candd 4) All of the above

WIS DIV [GUT I-ING Mg ?

a) Rdish, MR & NS Iid STIHarT fRIewuarh & ATarier &+ g,

b) 391h, SIfdH T forerT i Sl a@ Jieet.

i SR :

9) e (a) R) W (b) 3) (a) 3 (b) el 8) (a) T (b) A= T

Which of the following statements is incorrect ?

a) The Chimpanzee, Gorilla and Orangutan have no less capacity to learn from experiences than
that in man.

b) Lamarck, Darvin and Linnaeus proposed the theory of evolution.

Answer Options :
1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

SIS WAHBHD! P 27 &S ST 2

q) T Ispicht &l -fitep g ufhddT T,

Q) Ipid! & ufshar ura Tadd ufshamefies ey geffaa

3) IS ¢ AT T IRIT ML d Feiiard] FHEeT 37Tg.

®) Icspich & " Fasean uishde e

Lamark is credited for :

1) Human evolution occurs through the process of natural selection.

2) Evolution proceeds principally as a result of the interaction between five indispensable
processes.

3) Evolution is a universal truth covering all forms of life.

4) Evolution occurs through the process of Human selection.
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Shaemedte SapidaT Rig ... I HiSaT.

9) I STAd Q) JeNC IMMFRCRET  3) 3D =Y g) ¥t G@l. A
The theory of Biological evolution was put forth by ........

1) Charles Darwin 2) Albert Einstein 3) Issac Newton 4)C.V.Raman
WSS DI U™ g 3g ?

a) A RN SIgTT WA VI H@ds,

b) Iepicid At TS aTR.

qgift S :

) ®eh (a) R) Wt (b) 3) 3t (a) 9 (b) 8) 5T (a) I 7 (b)

Which of the following statements is correct ?

(a) Man acquired his position only after struggling with others
(b) In evolution the nature is supreme.

Answer Options :

1) Only(a) 2) Only (b) 3) (a) and (b) both 4) Neither (a) nor (b)
3) T=goitg 3nfor geaet
i O RUFTNE Pom v a2

37) SMYFD T BRI PIGESIA TN 3T,

¥) SRR el wremeid AR 3.

gt SR

q) e Q) Had g 3) el 37 AT g 8) Qg e
Which of the following statements is/are correct?

a) Modern man originated in Eocene epoch.

b) Dinosaurs got extinct in Cretaceous period.

Answer Options :

1) Only a 2) Only b 3)Bothaandb 4) Neither anorb
SIcgT 3MTYUT YSATcH e ShiciiedT R Rd AT degl Beld SdradTT gd ol

a) Ichicit FEUST Tl

b) kil afder fFmior aa

¢) ST ST SPRIPAGT SRS 3 ATl

d) arfrmifers dfisr g PrElen fees g fEior giard.

N DU R gH AR ?

1) (a) R) (b) 3) (© 8) (d)
When we are considering evolution of species let us remember that :

a) Evolution is progress

b) Evolution is generation of diversity.

c¢) The older designs are not necessarily inefficient.

d) More and more complex designs emerge.

Which one of the above four statements is incorrect?

I)a 2)b 3c 4)d
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SICIRICIE

wy-1 (smoft Selt) wYy-1I (A8)

a) fhew i) fopeaaT @Tar

b) 4 ii) i GRNTepUT aTed
c) 95D iii) SR gdtendr
d) g iv) SRIURIT FR&T
Tt SR

(a) (b) (c) (d)
9) (i)  (@v) (i) (iii)
Q) (i) @(Gv)  Gi) @)
3)  Gi) () (1) (i1)
g)  (iv) G) i) (i)

Match the following :

Column-I (Valuable Fauna) Column-II (Importance)

a) Insects 1) Consume insects

b) Snakes 11) Crops-pollinators

c¢) Frogs 111) Soil fertility

d) Earthworms 1v) Protect damage from Rodents

Answer Optins :

@ b (¢
1) (i) (iv) (1) (ii1)
2) (i) (iv) (iii) (1)
3)  (iii) (@iv) (1) (i1)
4)  (iv) (1) (iii) (ii)

RgTeficTudh! PO TTOIFAT SAIh 9RYR T HR YAl Y GIUT=AT M3 3R SR PRI 37Tel ?
q) frTcia ferm Q) anfrmcier &t 3) dIderdie dlegl ) Tl Sleth
Which of the following species was declared extinct in India long back 1952 ?

1) Asian Cheetab 2) Asian Elephant 3) Desert Fox 4) Gangatic Dolphin

NI TS UToft dora ?

) slel q) TaRi R %) ficT TSR HRIT §) TSRS MSTTT
gt SR :

9) %h 31 ) Weh 37 3TfUT § 3)Bh O, FAMTTH  8) Feh

Which are the extinct animal species ?

a) Dodo b) Passenger pigeon c) Pinta Galapagos  d) Floreana Galapagos
Answer Options :

1)Only a 2)Onlyaandb 3)Only a,band ¢ 4)Only d
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HRATNS DIal oIl JEIBHHT

a) I b) wRdT R ) HeHex d) eg

¢) AT5aId f) SEfnft ver

TSR DU /PIoTedT ST T SIS /31T g/ AR ?

) ®h (b) R) &b (c) 3) th (d) 8) (b) 3mfer ()
Some of the species from India are as follows :

a) Tiger b) Indian cheetah ¢) Salemender d) Gibbon

e) Great Indian Bustard f) Two horned Rhinoceros

Which is/are the extinct species from India ?

1) only (b) 2) only (c) 3) only (d) 4) (b) and (f)
SISRIRGICIE

Y - [ (USTr) wH - I (YPR)

a) YR Ve i) foRes / wferd

b) 3nfeRITce &t i) YTPICRID 3RTcted

¢) gracdial Plegl i) g / & gum=n

d) TCTe Sich 3Aetel ICbH iv) e

gl SR :

(a) (b) (c)
9) (i1) (iv) (ii1)
)V G (Gv) (1)
3  Gv) (D) (1)
8) (1) (i) (i)
Match the following :
Column - I (Species)
a) Indian Rhino
b) Asiatic Elephant
¢) Desert Fox
d) Pink Head Duck
Answer Options :

(a) (b) (c)
1) (i1) (iv) (iii)
2) @Gy (v) (1)
3)  Gv) (1) (1)
4) (1) (iii) (i1)

(d)
(1)
(111)
(111)
@iv)

(d)
(1)
(i)
(i)
(iv)

Column - II (Type)
1) Rare

11) Endangered

111) Extinct

1v) Vulnerable

IR ST Tehed [ BIUIRIATS! DIV HT0gTT o HRUNT gl ?

9) gret
3) FSRISIET ST A

R) FaTdT PR
) fier meums

The scientific genetic project was started because of the death of .........

1) Dodo
3) Floreana Galapagos

2) Passenger Pigeon
4) Pinta Galapagos
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"'fier’’ JTIeR JEIUR AGTT BIE, Siiol AR SR B0 DIde! STdd EDHH! 2

q) fiier R) FSRISTHT 3) NS 8) a5l
George, the last tortoise living on Pinta Island, had high levels of genes of ..........
1) Pinta 2) Floreana 3) Isabel 4) Volcano

() ATFRAYRI / GERAURITD WHRUT — 3RRIRYY g TSR S

Safafec wxemr
IIIRYY TFOr T S, ATl Tehed
TG

q) Safafaeca HRen

3% & R & RN A iR aRwedlier Stafafder Heehan avR @refiatidt ST TR
AT 3ATedT ?

9) 9% feeR 9313 R) 9 Ufdret 2000 3) 4 ST 9RRR g) R TR %83
The Earth Summit of 1992 at Rio de Janeiro resulted into a Convention on Biodiversity, which
came into force in which of the following date?

1) 19" December 1993 2) 1™ April 2000

3) 5% June 1992 4) 29" December 1993

qdies O R oy 2 oy 7

a) Stafafdear IRguIrATSH IR AR TR T

b) S FxmeRTear HagHTd e gfie siad gL

i SR :

9) % (a) ?) B (b) 3) (@3 (b) g 8) (a) @ (b) T T
Which of the following two statements is correct ?

a) For maintaining biodiversity an integrated approach is required.

b) In conserving biological resources no economic angle is involved.

Answer Options :
1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

aifeifiies <N gd Tt TSTITe! UqRT GRUIR Qe JATSTehIcs hRd ATard ROl :

a) AP REIST JMMAT o o eI 3T,

b) @At BT § B 3NMYSAT SIS R 3Med.

¢) QTP AT BHEI T AT,

d) BT JATYS STHIT AT RIS ATIRIEAT 3L,

i SR

1) (a), (b) ?) (¢), (d) 3) (a), (b), (©) 8) (), (b), (¢), (d)
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In Industrial countries the farmers who earlier did plant breeding are no more resorting to it
because :

a) Govt. scientists want to take it upon themselves.

b) Private companies undertake plant breeding for their interests.

¢) The farmers are busy otherwise.

d) The farmers want to put their land to other use.

Answer options :

1) (a), (b) 2) (¢) and (d) 3) (a), (b) and (c) 4) (a), (b), (c) and (d)

geies aF faumET faR o,

a) ATHIRIS T WIS PG FeTra s ThT & o9 Faid Hewr! Jfee! 3R,

b) 31 TS amor o RuARTa SIS ) BRTS BT ST RIS TSI AT gt Ffaroor
ed Bl ITR.

IR SR

9) AE IR ?) A Ih M @QTRO)TF  8) (b) TR (2) TP

Consider the following two statements :

a) Higher profits is the main consideration for the farmers and the private companies all alike.

b) The wild crops have regularly helped their cultivated counter parts throughout the history in
producing superior varieties.

Answer options :

1) Both are correct 2) Neither is correct

3) (a) 1s correct (b) 1S not 4) (b) is correct (a) is not

Q) IRV 3MfOr I S, ATEl Tehed

q) 5 @lde Q) For Miedt 3) R ) @Il
The First National Park established in India was ........

1) Jim Corbett 2) Sanjay Gandhi 3) Gir 4) Kanha
TG T -

w751 (For7eT 913h) w511 (715%)

a) TNTEUTHT i) mar

b) HIET TR ii) FVRES

c) Rmaarer iii) TOUTIT T

d) g&ar iv) afeer

ggfef} I -

(@ () (¢) (@@
9) (i) (iv) (i) (i)
2 () (iii)  (iv) (i)
3) () (i) (i) (iv)
¥) (i) (i) (iv) (i)

HERTY ST AR WaT gauxier |l - gk, Sta-fafdgar, gamme agar / %
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Match the following :

Column-I (National Parks) Column-II (State)

a) Naramdapha 1) Goa

b) Bhagwan Mahavir 11) Uttarkhand

c¢) Simlipal 111) Arunachal Pradesh
d) Dudhwa 1v) Odisha

Answer Options :

(a) (b) () (d)
1) (i) (iv) (iii) (1)
2) (1) (iii) (iv) (ii)
3) (i) (1) (ii) (iv)
4)  (iii) (1) (iv) (ii)

Ji® el ST SHH 0 PRUAT S Al s A

37) 98 sy §) T Udhed
F) TRITS USRI Udhed g) Ter FaeH udheq
gt SR
9) 9,31, P, S Q) 3, q, P, 3)9,3,8, P 8)3H, &, 8 &
Arrange the following projects in the order in which they were launched :
a) Lion Project b) Tiger Project
¢) Crocodile Breeding Project d) Rhino Conservation project
Answer Options :
I)b,a,c,d 2)a,b,c,d 3)b,a,d,c 4)a,b,d, c
SIS CEE
Y STHARWY
a) 3Ny Y () TR
b) HERTY (i) T HEER
c) ufegH et (iii) gfererd
d) mar (iv) STIeIRT
Tt S :

@ (d (© @
9)  (@v) (111) (1) (11)
?) (1) (11) (111) (1v)
3 G @O Gy 3D
8) (i) (1) (11) (iv)

Match the following: .

State Name of Sanctuaries
a) AndhraPradesh (1) Radhbanagari

b) Maharashtra (i} Bhagwan Mahavir
c) West Bengal (ii1) Pulicat

d) Goa (iv) Jaldapara

HERTE IISTARRT ARRY WaT gguRien il : aRfRAfH, Sia-fafdear, gamm s / 30
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Answer Options:

@ ®d (© @
1) (@v) (iii) (1) (ii)
2) (1) (ii) (iii) (@iv)
3) (i) (1) (iv) (ii)
4)  (iii) (1) (ii) (iv)

IR SHareRur/SHaiee @ oo TAR HiHifhd .

q) HEggl AT, TR S ST AhHUT HAT

R) HeuEd! WA, R A IMOT FeH-TITeRui R

3) IHR S, HHHUT T 3T Ger-uataxufia |

) A R, FHhHUT HNT S0 J&H—TATaRUI AT
Biosphere reserves are demarcated into

1) Core zone, buffer zone and transition zone

2) Core zone, buffer zone and micro ecological zone

3) Buffer zone, transition zone and micro ecological zone
4) Core zone, transition zone and micro ecological zone

SIESISCEIE

TR S/ TRV I

a) TR i) ISR
b) FHeTAE i) 3T
¢) Seradh iii) e
d) 994 iv) BN
g IR :

(a) (b) (c) (d)
) 34) (i)  (Gv) (i)
Q) (i) @Gv)  Gi) @G
3)  Gv)  Gi) @) (i1)
g) (i) () Gv) (i)

Match the following :

National Park/Sancturary State

a) Bandipur 1) Rajasthan
b) Keoladeo 11) Assam

¢) Indravati 111) Karnataka
d) Manas 1v) Chattisgarh

Answer Options :

(a) (b) (c) (d)
1) @) (i1) @iv) (iii)
2) (i) @iv) (iii) @)
3) (iv) (iii) @) (i)
4)  (iii) @) (iv) (i)

For Private Circulation Only
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3) TR

e oF UM feR @,

a) I BT AR T ; T fAfTE STiih fRgRaa! 31re Ia7. fora.

b) SSBfeaHIT Bl g : ST Ul BHT URq UebHebId] STac Sal. .
AT AR &

9) P (a) TR 3T ?) P (b) TR 372

3) (a) T (b) TET IR 37 8) (a) @ (b) qIel ISR AR,
Consider the following two statements :

a) Tropical Evergreen forest

b) Tropical Deciduous Forests : They have fewer species but they are found in close proximity

eg. Teak.
Now state whether :
1) Only (a) is true 2) Only (b) is true
3) Both (a) and (b) are true 4) Neither (a) nor (b) is true

SFAHCIRITT PIVIT SRl RAT e SHTARIGHTT FHR Adl 2

9) STNIaY g SR daTuR R) SHIAT garrn JAfcrarR

3) AR FESNATSH Sie 8) e JATCarINIS! Sifel
Which approach of a community related to forests in India ?

1) Conservation and use of forests 2) Excess use of trees in the forests
3) Forests for expansion of trade 4) Forests only for tribal people
Gl fagEr faar .

a) FTEA IR BV HichdT argstdl & faargsiidt IR,

b) @ gd Uk AU T 3R ATRI

i SR :

9) I P R 2) O R =

3) (@) R TR (b) TP 8) (b) TR T (a) TP

Consider the following statements :

a) Forest manuring is both aerobic and anaerobic.

b) Forest manuring is not hastle free.

Answer options :

1) Both are correct 2) Both are incorrect

3) (a) is correct (b) is not 4) (b) is correct (a) is not

ETSIBIDT Do A= Fehrar g ?

a) TRg TifshaT FFRER Tes, IR,

b) UraRATeITd ot arferery offer aRTa.

¢) & A, IUIGH, [RABIGRD d IUHIAT AT

d) IHaTET g T A

EUIDIRCH S

q) (a) Q) (0) 3) (d) 8) &Rl PIURIEl ATel
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Which of the following statements is incorrect ?

a) Natural forest manuring goes on round the clock.

b) It is quicker during monsoons.

¢) Forest acts therein as manufacturer, distributor and consumer.

d) Man's interference therein is absent

Answer options :

1) (a) 2) (¢) 3) (d) 4) none of the above

e A9 Ry R &

a) 3TTST AIGAT JHIUNT fafde veireht foRgd &R BRIaS dhedl SiTd 31Ted.
b) SR fRfducge g g 33 37k,

i SR

9) (a) TR 31 g (b), (a) = PRUEHRIT .

?) (a) oI 3ME UM (b) I U Igad Tl

3) (a), R 378 R (b),(a) T BRUHHRT < T,

¥) UR<BeEaRe a1 faaieed Prel Arar Ad Al

Consider the following two statements :

a) Today a large number of widely diff. species are getting planted over extensive areas.
b) Genetic diversity has led us to this situation.

Answer option :

1) (a) 1s correct and (b) s the correct explanation of (a)

2) (a) incorrect therefore the question does not arise about (b)

3) (a) 1s correct but (b) is not the correct explanation thereof,

4) Nothing can be made out from the passage about the statements.

(9) Tt AT - gRaTe aRemHmME Watie a A= Yffw

9)
?)

)

1)

Q)

2)

FATT §qd, ATITERT, A aireT - giRd arg
EReTE aRummTed aiig s =i i

q) B I, AITERYI, Tellge aifmT — gRd ar]
NS 5 HIUH Wihiesdeh! Il Tl TS ?

) 9RY¢ ?) ARL 3) ARy 8) 9%%Y
Ozone hole was detected in which of the following years ?
1) 1958 2) 1972 3) 1985 4) 1995

SR IETEAT FERINA WTefleridh! pIordT foass ST e feas gue fas der amg 2

9) 9 S )Y 3) 9 AR 8) 9§ R
Which of the following days is designated as World Ozone Day by the U.N. General Assembly ?
1) 1* June 2) 5% June 3) It September 4) 16" September
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SRS fehes AR oI IRl RIGIT WIS

a) IR S g Rigia

b) IR SHIT=AT TEhIPR MerRd Rigid

¢) @MAET fawas Rigid

d) ATAERUTS AR ST faee Ueptemrd fohRuT ey odmd, Tl Seeed JHaRar Rigid.

JTATERTT FCHFT DIV RIGIATIRIR UTd ISHd YRV ITel URe TTeR SR Jhies Tanehics Iohid
TR AT 3 Mo A4S RS 71 AR 2

1) (@) R) (b) 3) (© 8) (d)

Following are some theories of climate change given by scientists :

a) Sir George Simpson theory.

b) Theory based on sunspot cycle.

¢) Astronomical theory.

d) Variation in the quantities of radiation absorbed by atmospheric gases selectively.

In which theory of climate change, the five principle effect are considered and mathematical
model for expansion and contractions of ice sheets has been given ?

1) (a) 2) (b) 3) (© 4) (d)
TefieTdehl PIuIIT HIE! GRUTHTES ST g SGel il ?

37) ¢000 THIRIT BIURI SIS §) BT 3T JMfereRor Jrar R

%) 4000 TNIRT BRI @RIl HIq2w $) sifenfie sic

Tt S :

9) Beh © ) Beh & 3T 3)Wh §, B AN E  8) il A
The impact of humans on global climate has been induced by which of the following ?
a) Deforestation since 8000 years b) Use of fire and overgrazing

c) Wet paddy cultivation since 5000 years d) Industrial revolution

Answer Options :

1)Onlyd 2)Only candd 3)Only b,candd 4) All of the above

SR STRTfCIes A9 R° dlees R JAleR WIdisU! PIud JRUITT gudret addl 37Tg ?

a) 9P R b) HIcHITes VIR TSR S FSRAT
¢) 9t faummd 95 d) wmoft 3o aeRciear I=amer Tt AF gilis.
gl IR :

1) (@), (), (©T ([ ) (@, [bd)T () b) (b), (¢) T (d) 8) %h (d)

If global temperature rises by 2°C, which of the following effects can be seen on the earth ?
a) Annual flooding

b) Insect born disease like Malaria

c¢) Shift of agricultural regions.

d) Several species of plants and animals will become extinct.

Answer Options :

1) (@), (), (c)d(d)  2)(a),(b)and(c) b) (b), (c) and(d) 4) only (d)
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Wietietidl ot gReag ary |qut 7Ha Fffa amg 2

9) faem Q) Pl SRBNIARS  3) TRHGH RS 8) FARTRIDET
Which of the following greenhouse gases is entirely produced by human activities ?

1) Methane 2) Carbon dioxide

3) Nitrous oxide 4) Chlorofluorocarbons

PIUTCAT RIS qReded SIS oRTE BRI &l ?

9) PET SN IS Q) AR S JFASS
3) e 8) FARBRR! BIeH

The main gas responsible for zone depletion is :

1) Carbon dioxide 2) Nitrogen dioxide

3) Methane 4) Chloro fluro carbon

RTeTieTieh! IO aRY IOl TSIl & HRUIR Faid 31 PRUMT 3l ?

9) RIS ) TATHR SRS 3) P SHSNaNIES  8) dNel |d
Which of the following gases is primarily responsible for eutrophication of water bodies?
1) Nitrogen 2) Sulphur dioxide 3) Carbon dioxide 4) All the above
Sfiaren SU ST USRI ST ... . 2 g fAesdd.

9) SO a7t NO Q) 8023ﬂﬁTN02 3)'S 31Tf3TN2 %) NHSG:TrfﬁrSO2
Burning of fossil fuels and petroleum gives

1) SO and NO 2) SO, and NO, 3)SandN, 4) NH, and SO,

3N e BT AT SHagEIeR. Wiafiatih! HIvfd GRH gidrd ?

a) HIURATEAT T RS &I ThA b) I a1 el
¢) ATOHMIT gif d) Hicfifeig gvare BRoT
i SR :

q) Heh (a) MMM (b) Q) h (c) MO (d)  3) Heh (b), (c) 3T (d) 8) Tt A
Which of the following are ecological impacts of ozone depletion?

a) Damage human immune system b) Stunted growth of the plants

c) rise of temperature d) Causes cataracts

Answer Options :

1) Only (a) and (b) 2) Only (c) and (d) 3) Only (b), (c) and (d) 4) All the above

gRE argear aRvImre dewidiet fem -

31) 9jwo Wid 3MuedT e 900 aufd 9° F. 7 AUHH ared .

) T 0 AT IMUeAT gedid R 900 Iufd 900 /. 7 AUHH dled 3.
%) ST FRIRIGAT RIS Sgci ferwen A A= 3TTedl.

$) Tt A aRaTRar o gRumHR digar ared 3.

RNt IS PIor /Do e SRSk 3med ?

gl SR
9) ek 3F AT § TR ?) Bk F 3 & §¥IaV
3) Bh § SRR ¥) Theh T, @ 3T § SIS
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Study the following statements about Greenhouse gases effect.

a) Our planet was heating at the rate of 1° Cper 100 years, till 1970.

b) Since last 20 years, the planet has been warming at the rate of 10° C per 100 years.
¢) Most of the glaciers in different parts of the world are retreating.

d) Frequency and effect of El Nino is increasing.

Answer Options :

1) Only a and b are correct 2) Only c and d are correct

3) Only b is correct 4) Only a, ¢ and d are correct

37T & i aa~rars] aravard &rd IRaE T19 B ?

9) FBNIACE ErRISIPITT 2) FBNIHCS EIZIPTET

3) FBRITG ETIGIPIT 8) FHIRACS TORIASIT HIFHE
'Freon' used as refrigerants is chemically known as :

1) Chlorinated hydrocarbon 2) Fluorinated hydrocarbon

3) Chlorofluoro hydrocarbon 4) Fluorinated aeromatic compound

?) eRae aRumed i smfor A= i

SITfores RARRT AT (2099) WTHGUDT DI <21 Faid e Hre- Scas dxal ?

9) 4.54. T. Q) M 3) WRd g) I

As per the World Resources Institute (2011) which of the following countries is the world's
highest carbon emitter?

)US.A 2) Russia 3)India 4) China

BIe- SRISTTaATSSd! UToITERIsR BT B ... 2 &

9) HCO, (aq) ) H,CO, (aq) 3) H,CO, (aq) 8) H,CO, (aq)
When H,O (/) reacts with CO, (g) it gives
1) HCO, (aq) 2)H,CO, (aq) 3)H,CO, (aq) 4)H,CO, (aq)

TSI 3TFAdSi FgurdTd Sicgl, pH o 99 ... SR

9) 1.0 ) ¢.3 3) 0.] ¥) 4.€ &I Y
Rain is called acid rain, when its pH value is
1)7.0 2)8.3 3)7.9 4) Less than 5.6

@Tefl S faum fCeteft amed (31) g U™ 3R () g BRI 312 Wietld TR A 9 fHaer,
faem (a1) : A oRuTe gl BleTeRI-3iiavTgsd HHIU aTad.

PR () : T SIegT TBIIRIATUT SRR Fad =T 3Te dIR BRATd degl HicdT YHIUIT dhleeri—aarssdr
IR B,

g IR :

9) (31) 3MMT (R) gl < 3G () B (3N) T fSTeep TuEamur 31Te.

R) (37) 3T (R) qrFgl I 3R () 2 (31) o forigen wueiaur g,

3) (31) I g UM () 3/ IR,

8) (37) T IR AU () T 3.
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Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason
(R). Select your answer from the following options.

Assertion (A) : Deforestation results in the increase of concentration of carbon dioxide in the
atmosphere.

Reason (R) : Forests utilise carbon dioxide during the process of photosynthesis for
manufacturing of food.

Answer Options :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

3) (A) is true but (R) 1s false.

4) (A) is false but (R) is true.

IS, FRIANITS! BIHPReD 3N BRI —

9) T 3G R R) A g TP U TIhdId

3) 2 3T YIT Pledrd ) 3relged A rgdid

Acid rain is harmful to plants because

1) It gives nutrients 2) Nutrients are added as supplement
3) It washes away the nutrients 4) Nutrients will remain as they are

YRATAIeT a8l IR HA™ RO ST ?

DINERER R) 3T TS 3) e goi 8) J&H g
The Taj Mahal in India has been affected by
1) Heavy rain 2) Acidrain 3) Constant rain 4) Smaller rain

(¢) TIMM SIS SURIRISTHT

AT ISeTRIGHTd STRTfoIe SURIASTHT
GTeRUT AT BRIRT 15T /M / SRS UTdestaNiel SaeHT d Wl

9) BIME ISATICUTd SIRTfcieh SURRISTT

TSI BEUD! DIV I g HRAKNS ARG U1 PRASAIST T Agrdl QU FgUd AFS I ;
SicgT R gafaRur s mfor Javay Affrcfieh wemoT et ?

9) 9863 ) 9819 3) RR0R 8) 9’13

Which of the following is considered as a land mark year in the history of legislative action in

India for environment concerns during which National Committee for Environment Planning and
Coordination (NCEPC) was set up?

1) 1973 2) 1971 3) 1972 4) 1974
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9&® B Ry o e 2

37) P FRIRIARU oo dloit 919 3.

) TS 37, IRAMS T SRS BUR FUR, 57 9 arged! $U7 IR PRd.

g IR :

9) ek 3 ) Feh § 3) PURIE ARl ¥) 37 M1 § gt

Which of the following statement (s)/are correct ?

a) Carbon fixation is a comparatively recent phenomenon.

b) Each of the thermal, chemical and biochemical conversions results in solid, liquid and gas
form of fuel.

Answer Options :

1)Only a 2)Only b 3) Neither a nor b 4)Bothaandb

R) TR HIHHTT HRRA IS /1Y /. SIFTfcIeh UrdodtaRiel HEeHT g T

HRATE ETelierdehl DI I HH BIeTh I STTel 318 ?

9) 3ROV Tl Q) TN 3) Rumaer uear 8) ORI
Which of the following states of India became the first carbon free state?
1) Arunachal Pradesh  2) Chhattisgarh 3) Himachal Pradesh =~ 4) Gujarat

RIS WISISEUD! DIV I YRS P T 5T JI0ATed] FARIER 3R ?

q) IR R) fearas mea

3) SIRIGS Q) IRUTMIS T

Which of the following States of India is on the way to becoming the first carbon free State?
1) Kerala 2) Himachal Pradesh

3) Uttarakhand 4) Arunachal Pradesh

TEE P AU FER AR 2

9) HRAT Uf2s GAERUT GReh Sig 56 (bio-fuel) Ieh oM =18 3MUT g% I IeTe.

R) HRAR Jahckd 3MUe g §UF 09¢ I IRT YR SER a3 3.

3) T YRUGAR 030 Td UIGHET 0% 3UIcd fHE01 BRI Sfe¥ 3auamd 3Ms 3.

8) SRISUHT Tl ATl

Which one of the following statements is incorrect?

1) India's first environment friendly bio-fuel powered flight flew between Chennai and Bengaluru.
2) India has recently released its National Policy on Bio-fuel 2018.

3) The policy envisages a target of 20% blending of ethanol in petrol by 2030.

4) None of these
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() TIGHUT : UHR g HIRUT — §aT, UTUR, HIeit, &gl

9) UQHYT - &1

HHFI: S EchdT Thid S $HeM Icdifed e STIad, a9d Plal SHIcThIST ITyhd &
ST FRRIGRUTATS! aTuReS STATd. U (SHM) UTHhRAT PHIvcdm yeria dR Rugr JHCR
Ugdll T aTRe SIS Add P

9) A Q) I 3) TRNIG ) THATPRRY

Emulsions are normally prepared by shaking the two components together, although some kind
of emulsifying agent has to be used in order to stabilize the product. Emulsions can also be
prepared by using the principle similar to the preparation of ..........

1) Sols 2) Gels 3) Aerosols 4) Emulsifiers

......... e JIJHUICIcs SapuTed] STIRGRUIGT WA IR gIdTd.

q) AU JER GaTAIEd SIifod b

R) ST M IRIPUTHS SO qUR oGS UeTIRagd RIifdhd hedt
3) Sd ST B9 Iid IRgHad 3RAce A0 gRaifehd el

8) e PIoTCE AT

Aerosols are dispersions of liquids in gases formed by

1) Tearing apart a spray of gas with liquid

2) Tearing apart a spray of mixture of gas and liquid with solid

3) Tearing apart a spray of mixture of liquid and solid with gas

4) None of the above

EHJERTET gaMMTERIel TR

31) JGUBIATE AT JAABIAT IR

) VIERIAT ST TR WRIacid gaara

) JEIJYRMT gAMHM YUTeileR fedes 2 qRum

) Ara T e JURMe AMRS 9 ATk Plal FHIUI AT I3

RITDH! DU IRUM TRIER 37MEd ?

g SR

9) Heh 3, § M1 & TR Q) eh 37 IO & RIS
3) Beh §, P MO T SRS ¥) 31, 4, P AN § SRR
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The effects of aerosols on climate is / are

a) They directly reflect sunlight back to space.

b) They indirectly make clouds brighter reflectors.

¢) Aerosols have a net cooling effect on climate systems.

d) Human generated aeroslos offset the impact of flobal warming to some extent.
Which of the above effects is / are true?

Answer Options :

1) Only a, b and c are true 2) Only a and c are true

3) Only b, c and d are true 4)a, b, candd are true

UNEP =21 a1y @leflel Ygyes A7 <gied Hregaied] Sieal o :

BEAED HTEgH
31) ARIENH IS D) 9
q) UGIferad gIgpE 1) aFet
) FARISS 101) g
§) AT V) e groft
i SR :

<) q D E
9) I I m v
Q) v I I I
3) I I v Il
8) I I | I\%
Match the following Pollutants and their Mediums as per the UNEP documents :

Pollutant Medium

a) Nitrogen oxides I) Sea
b) Petroleum hydrocarbons II) Food
¢) Fluorides III) Air
d) Mycotoxins IV) Fresh water
Answer Options :

@ b (© (@
1) I I I v
2) 1\% I I I
3) I I v I
4) I I I I\%

3) TSNUT - gruft

AR AP TR WIATGUIRT WTeAeTdh! DIV HEET T BRI 3.
7) &9 75 ) ST ST 3) e s ¢) g g
Which of the following is the major cause of poor health in Indians?
1) Air pollution 2) Water pollution 3) Noise pollution 4) Soil pollution
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3iENfiles TN UTvarE gHaiR Fgurerd i Sic BRI ATl Godld DIudl QITd el ?

q) HIT R) AT 3) Icts g) id

Green Dot Programme means recycling of industrial polluted water began in which country?
1) France 2) Germany 3) Ireland 4) Norway

UINUT g AU ...

a) TAfeRIcTT SPRIeS YRTIdIe dTgedl UTugmed gao gid.

b) JUIYUT g AT UIoTd BId SMOT e forarar SMfoT it It hosedT STeiaT geoges e grdl.

¢) UM TR ST AaTesrT ol g 3 FgUd ISTANT Bl HILdT dIENTe! diSeh axal.

d) Uy groft @ Siifadsr U=l 3RAa 30T Hocdial TfhdT = ARl HIE! AR JRIGT 3,

RIGUDT PIURT /PIUTe U /e aRIeR 377ed ?

1) Hh (a) ?) T (d) 3) (b) Fh (c) 8) (a) 30T (d)

Statement about Eutrophication :

a) The eutrophication occurs in lotic water body primarily in early region.

b) The eutrophication occurs in lentic water and there is gradual accumulation of organisms and
their products.

¢) The eutrophication promotes fish growth as algal blooms serve as source of food to fishes.

d) The eutrophicated water is oxygen rich and safe for human consumption without treatment.

Which is/are the correct statement (s) ?

1) only (a) 2) only (d) 3) (b) and (¢) 4) (a) and (d)

a) Hifcs wfekan b) RIS c) DT SFATGAZS  d) Sfiem]
Tt S :

1) (a), () R) (b), () 3) (b), (d) 8) (b), (), (d)
The sewage is converted into plant food by :

a) Physical action b) Chemical action c¢) Carbon dioxide d) Bacteria
Answer Options :

1) (a), () 2) (b), () 3) (b), (d) 4) (b), (¢), (d)

Yc FRITRTET fepTrariel Sroil el STfor aroft epReg=iie1 aroft qRaur=a anfa==2 fafre sepedn g

TUGHes T 3MRd. Arged PRIYUITeH vl A fed. Wy Sl IRTRAMD BRGFITT S

JATEId A1 RIuei FReledT e T 3aed gl Heh UTUaTT Uleid STaiuiy JURUTT $Tell aed

AR R AT @& AT SR Beh Y0 e Hdelel AaTe gaveyul hed dRaMT T

IR UIPIGRID CIhTS UG Pigd HTd 3RT 3T@swe] 3MTe. FR HIfgalaR MUNT Wletletdeh! I

faeT epior 2

) SR g qgprr Ul AT IuaTe] I U <Ml 3Tich &b P HIcYTeAl IENTET ATUR
SRICIeAT Hes Reie SHIe dhel TR dl JENT DlFesel.

) SR M IuTY 3RAetel 2AdIG 8 YR U Wieh AU ehel el oR PREITeAl YIufigRaay
afE=aT mge e,

3) SR I YGHH WIWIhgd AN Il Yareie Ul Teied] Ygreifd wuR $ilel A8l )
T UIBIGRID TGHh

8) & 9gpr Ul HetdTg STErStic ) SO 3t o Y o TR e < e
FRIFIT BT eI ITH YR Uil SITd 37Tedl.
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The intake pipes of nuclear plants and water plants along Great lakes are clogged by a certain

variety of mussels that proved to be causing nuisance to the working systems. But it is found that

the bags of these calms when suspended in the effluent streams of chemical plants, not only

improves equality of water significantly but also remove some hazardous wastes from effluents

just by feeding voraciously on the algae that they filter from water that passes by it. Which one of

the following is the True Statement based on this information ?

1) If these mussels spread to areas of the river and displace native calms that support cultured
pearl industry for decades, that industry will collapse.

2) If the mussels failed to consume the quantity of algae available to them, then the intake pipe of
the nuclear plants and water plants will get clogged by it.

3) If the wastes from the effluents are not transformed into nonhazardous chemicals by these
mussels themselves will become hazardous pollutants.

4) These mussels are brought in this area through freighters and are thriving here since their
population is not controlled naturally in the ecosystem.

) - R) MR 3) femer 8) Tifesan

Accumulation of mercury into human body leads to ......... disease.

1) Itai-itai 2) Methaemoglobinanemia  3) Minamata 4) Polio
3) UGNYT - AT

.......... 2T fehdl M AT Meherd! UTRRUaT Ufhaid BRIgH 3RIdT.
q) TISSH AMSW Q) TRRAAS MW 3) EIZo 3T 8) T TS R

In the process of alkaline peptization of clays ...... is the active agent.
1) Hydrogenradicals  2) Hydroxyl radicals 3) Hydrogen ions 4) None of the above

%) UGHUT — €&t

WA ea= THUTD HIvRT RO 3R ?

31) Ui 3ifdres e g (SfExuom )

9) gA.vcdIeT JAUER aTsc YR gl

@) T gt fFmior groardt eTadr SR,

3) S gaqE (B.P.) fFmfor g

gt SR :

9) 3, §, & 3T 3 )3, B, eAME  3)3H, T, SAMg ) 31, &, P, S 3AMN 3
Which of the following are adverse effects of noise pollution?

a) There is a partial loss of hearing (deafness)

b) It affects reproductive system

c) Foetus may develop defects.

d) It affects human performance in tasks requiring communication skill and thinking.
e) It causes high Blood Pressure (B.P.)

Answer options :
1)a,b,c,ande 2)a,c,d,ande 3)a,b,dande 4)a,b,c,dande
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SedT AT

AT PRITER Tl TGUITE gk,

Y- (3TTaTSI=N uresl) TY-11 (FrRf)

a) 900 dB i) ST 3w

b) ¥o dB i) Priergat gt

¢) vo dB iii) PR 9o o) g
d) Ro dB iv) AT T

g IR :

(a) (b) (o) (d)
9) (i) (1) (i1) (iv)
) (iii) (i) Gv) (i)
3) (@) (i)  @v) (i)
8) (v) (i) (i) (1)

Math the following :

Impact of Noise on Human Activities

Column-I (Noise level) Column-II (Human Activities)
a) 100 dB 1) Sleep Interference

b) 40 dB i1) Loss of Working Efficiency
c) 70 dB ii1) Permanent Loss of hearing
d) 90 dB 1v) Speech Interference

Answer Options :

@ b ( @
1) (iii) (1) (i1) (iv)
2)  (iii) (1) (@iv) (i1)
3) (1) (iii) (iv) (ii)
4)  (iv) (i1) (ii1) (1)

(90) FHERT HGRATIT T ARRIRT, YGHOT IHT SURT

FHART SATIOT FART FTRATIA
TGO 9 U
g faRufiy ol

q) FHERT A0 FHEART FTRATIA

TR AR, I J TR HIRIGT 4]R9 HHIUN HiNeHT HIST aTuRvITd VT W Reepa Sirel fawelT
RIS AT ?

9) 90 HRISh Y&l PHHT R) 9Y HIIHI Y& Bt

3) Q0 TRIBIT 94T FH} ¥) ISUDT Tpal ATer

As per the Recycled Plastic Manufacturer and Usage Rule 1991, what should be thickness
of carry bags?

1) Less than 10 microns 2) Less than 15 microns

3) Less than 20 microns 4) None of the above
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ST e,
wY-1 (Faar faegdare R ggd) -1 (37ef)
31) PRI Sl i) AR S0
§) YRH PR i) PERT TR M7 JASITRAT AGRAT &0]
&) TIeul iii) SffeasH fRga Saem
8) WifR iv) SR @eRT RRI0!
il SR :
@ @ @ ()
9) II I I v
Q) II I v I
3) I I I v
8) v I I I
Match the following :
Column I (Waste Disposal Method) Column II (Meaning)
a) Sanitary landfills I) Burning of waste
b) Incineration IT) Deposit the refuse and compost it with bulldozers
c¢) Pulverizing III) Combustion in absence of oxygen
d) Pyrolysis IV) Spreading the waste on fields
Answer Options :
@ (b (o (@
1) II I I I\%
2) II I v 1T
3) I I I v
4) 1\% I I I

g1 Ha=ITe! glerdlel A ST SHl fAhRid S 8% T FeUT s¥iel SIS ...... 7L
...... 2 IMTRRTET PRRTER &I bl

q) A 4888 ~ ST ?) UfikeT 9%¢o ~ UM

3) 9 RV - AT 8) A ¢ - facsiels

Basel convention an international treaty designed to reduce ovement of hazardous waste from
developed to less developed countries signed in ...... at......

1) March 1999 - Germany 2) April 1980 - Japan
3) May 1979 - Norway 4) March 1989 - Switzerland
Gl faUmmET ST o

31) RHIRM i pear dd M AT He=ard ST,

) AFa FEI Boean [d e JaT HaATd S

&) RALRM A0 Bosedm Fa M GadT HIATd AT

8) gm0 Boedr I MET 3NedT He=aTd ST,

IR SR

9) 3 3T & TR Q) § 3T § SRR 3) & I § SRR ¥) 31 IMfr § TR
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Study the following statements :

a) All things made by God in nature goes to wet garbage.

b) All things made by humans goes in dry garbage.

c¢) All things made by God in nature goes in dry garbage.

d) All things made by humans goes in wet garbage.

Answer Options:

1)aand c are correct 2)b and d are correct 3) c and d are correct 4) a and b are correct

HERT Peld DT Pegl T ?

37) BT HTepRUT GEAIGT ATRUIATAIST Hfshal o] U fHesded .

§) RO NN T FRIT HAT HIBRU DT,

®) gl A HRCHTT DI GHIIG] AORVITIIS] BRI o Grgl Gral dToRe .
i I :

9) Weh 31 ) Bh b 3) Beh § 37f0T & ¥) aF 3for §
When will garbage bins not have any garbage ?

a) After segregation of garbage and making money from recycling waste.

b) When municipality start segregating wet and dry garbage.

¢) When all plastic waste is recycled again and again’

Answer Options:
1) only a 2)only c 3)bandc 4)aandb

MY ISl MO S’ g6 0.0, 7L 9]3R AS] PIVK el B IR TIR DT 13T 2
q) fyantie R) AT WR 3) ST WRaT ¥) PIAHe AP

With modern 'Engineering and Technology', which is the first synthetic rubber synthesized in
U.S.A.in 19327

1) Neoprene 2) Buna rubber 3) Gutta percha 4) Caoutchouc
qlfese e USRS Fdfc 31feieh RS SR & Feva] wfed fthed el 31Id ?
q) utfosuferfoa Q) UifoerRRH 3) uifeuifufes ¥) Uifes feeses ToRSs

The most common and least expensive plastic film used for packaging of solid food materials is
1) Polyethylene 2) Polystyrene 3) Polypropylene 4) Poly vinyl chloride

PVC' g 9 e ITN ... EISIRCI RG]

9) UioiEAS® PEC ?) UIfETES ToRES

3) BRBIfEASS FORSS ¥) IRIEAISIH FTARISS
The word ‘PVC’ used in plastic industry stands for :

1) Polyvinyl carbonate 2) Polyyinyl chloride

3) Phosphovinyl chloride 4) Phosphovanadium chloride
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?) USHUT M SUT
WD (Colloids) YEIPRUT TSIV 3FIehel hes S, TSI R T ... =T AediH aftid

DAl Vild Achdl.

q) gEh & R) fagd dudhiy &=

3) STUChGDPRT & 8) TRIBUD! Thgl ARl

Colloids are often purified by dialysis. Rate of dialysis can be enhanced with the help of .......
1) Magnetic field 2) Electromagnetic field

3) Nuclear field 4) None of the above

Wleftel ATfciaR IMURT TR UTe=aghd DI ?

ARFTF RISATHS JFHIOT RTINS Udeh Pealehs Ieaadied SRIE ARTC! YRV Fiead oo Mg, BRUT
JEAIM IPRTE ST AR HSAAOGTT I8 3Gt AR $—2Ples! Siq, A0 FoRaset < et stredm
1A SR, IT WS ST, TR STUR FISIfCE™T ST JASHIR g1 T4 STUITRRATS! BI0TRT
T YIS IR, ARG VIR FEeu & U Agwrd! 919 37ed. Sia-ral SfhR Fgurst Uirs Sl
3R HdiE ~TRIGAG! FeUI. ATIYHI TeTciies TATaRUE gi¥d Bld. dvdl: Hgafdsl Mmelich gai
AT ar AfeT Tdm™T U Hgaml did 378,

3R SRRl 37U Qifeey = arqRugrd THR GRUM Bl SRITE! Sy SRURIT JSaTiies FTHor
PCITT T €0 T 37 g AT 0 TIIITIDT Yo Teh ral Ul TR Pl AT UL BROT S
AIAITe ST < 3R I, ARI QAT Fieepr YRV g ' Sjeieh™ Ui’ 3RT e Qe aoR
T PpeaTes VAT THR GRUFTETET ST SR 90T At i1 RIfard ot Jrm 3T9Ta Mg, e
TRER BIhIQT&T0T SRR TS el 3Taedehd 3llg 31 aTedl.

UTYTIhH :

a) SFETEITET IR AORMS ITSIRR AR SHUIME ARIIERIS BIUIR G1dd GRumT HH 2idie.
b) TMaThies e aTATER fedhay Sadl Iea.

c) At uferst, fadwd: afesh ufrst IRadr IS,

d) Pt IcuCEHAT T RIS IHRT e,

i SR :

) (a), (b), (¢), (d) R) (@), (c), (b),(d)  3)(b),(c),(a),(d)  8)(d), (D) (), ()
Which one of the following is the order of priority based on the following information ?
Government has formulated a policy to ensure that each family in rural area of the State should
have a toilet as most of the diseases and epidemics are caused due to e-coli found in human
excreta carried through the use of contaminated water. The loss of human life, mandays wasted
and the loss of wages due to these ailments and expenditure required to be incurred on the treatment
is enormous. The embarrassment to the female population is another factor, so also the village
environmental pollution caused. The Supreme Court interpreted Right to life means life with
dignity. In fact, human excreta, if treated scientifically, is a rich source of organic manure.

In spite of these provisions and severe consequences the percentage of rural families having
toilets is only 60% and out of these, who are actually using the toilets is only 50%. The failure is
ascribed to the fact that toilet policy is “Construction oriented” and the element of educating and

sensitizing the people as to the adverse effects of the non use of toilets is squarely missing. It is
felt that a strong public education campaign is the need of the time.
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Order of priority :

a) Regular use of toilet reduces health hazards of open defecation.

b) Maintaining the ambience of the village.

¢) Maintaining the dignity of the human being, particularly women folk.
d) Boost to farm productivity and economy

Answer options :

1) (a), (b), (c), (d) 2) (@), (), (b),(d)  3)(b), (c), (a), (d) 4) (d), (b), (¢), (a)

3) QITERUNY SATo

T SIMEies <shidres STl Fdid Hiwr -dfiie gEeD! U 3R, AR 3,00,000 BIbH! AT
TT0T THTEIS, JRT FRUICT. SIS S, FgUSl <Tdesed] d iR & GeeT o gea! ?

9) 9%90 R) 9R¢&0 3) RYo 8) 9380

One of the worst natural disasters of the World was the cyclone struck in Bangladesh. As many as

3,00, 000 people, lost their lives, it is said. When did the disaster struck Bangladesh, then East
Pakistan?

1) 1970 2) 1960 3) 1950 4) 1940
ST &
ST f3aHToT TGSl AR
31) BSRATS I. & 3TRT 2090
9) Jg-erd I1. 94 3R 9381
®) q93 IIL. 9% SI7 2093
g) Rrme IV. ¢ I 008
g SR :

) g P 3
9) I I I\ 1I
) I 11} v II
3) I I 1I \%
3) II I\ I I

Match the following :
Places of Cloudburst Date of Cloudburst

a) Kedarnath L. 6™ August 2010
b) Leh-Ladakh I1. 15 ™ August 1997
¢) Mumbai III. 16 ® June 2013
d) Chirgaon IV. 26 ™ July 2004
Answer Options :

(a) (b) (c) (d)
1) I I \Y |
2) 1 )i \Y |
3) I I 1 \Y
4) I v I I
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CICICRERIS AR
a) AR Thiaees § 098 ALY 3RET WG TR HTel.
b) AR TWHIAGHM ST DU fPARIER AT JhAT .

T SR :
9) fau™ (a) SRR 3. Q) fIu™ (b) ReR 3.
3) fae™ (a) 31for (b) SRR 3. g) fau™ (a) IMfOr (b) SRS AR

Observe the following statements :

a) Sagar cyclonic storm originated in May 2019 in Arabian Sea.

b) Sagar cyclonic storm disrupted properties on South Konkan coast.

Answer options:

1) Statement (a) is correct 2) Statement (b) is correct

3) Statements (a) and (b) are correct 4) Statements (a) and (b) are incorrect
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THUGRRATET JISIAaT GauRtaiciter e
gRIRUFIR. Sa-fafderar anfor gam™ g

(9) SHIRIREH — e,

(3) fAr  gafeRvi SRIge

q) HepeTdT — URwET |, uRRRAfh/
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